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1) One of the feature of quantitative research is _________.

A) the collection of non numerical data

B) an attempt to confirm researcher’s hypotheses

C) research that is exploratory

D) research that attempts to generate a new theory

g§»¶mË‘H$ g§emoYZmMo ‘w»¶ d¡{eîQ>ç ............ Amho.

A) g§»¶mË‘H$ ñdê$nmV Zgboë¶m ‘m{hVrMo g§H$bZ

~) g§emoYH$mMr n[aH$ënZm {ZpíMV H$aÊ¶mgmR>r Ho$bobm à¶ËZ

H$) g§emoYZ Zo E³ñßbmoaoQ>ar AgVo

S>) Z{dZ CnnÎmr {Z‘m©U H$aÊ¶m{df¶r Pmbobm à¶ËZ
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2) When researcher uses both survey and historical methods of research it is
________ approach of research.

A) mixed method B) multi method

C) experimental D) action

Ooìhm g§emoYZ gd}jU Am{U Eo{Vhm{gH$ ¶m XmoÝhr g§emoYZ nÕVtMm dmna H$aVmo Voìhm Vmo .............
g§emoYZmMm Ñ{ï>H$moZ AgVmo.

A) {‘l nÕVr ~) ~hþnÕVr

H$) àm¶mo{JH$ S>) H¥$Vr

3) In research tool, Likert method is related to ________.

A) attitude scale B) rating scale

C) check list D) questionnaire

g§emoYZ gmYZm§Vrb {bH$Q>© nÕVr ............... er g§~§{YV Amho.

A) A{^d¥Îmr loUr ~) nX{ZíM¶Z loUr

H$) nS>Vmim gyMr S>) àíZmdbr

4) One of the essential characteristics of research is ________.

A) Replicability B) Usability

C) Generisability D) Objectivity

g§emoYZmMo Amdí¶H$ Agbobo d¡{eîQ>ç ............. hmo¶.

A) à{VH¥$Vr ~) Cn¶mo{JVm

H$) gm‘mÝ¶rH$aU S>) dñVy{Zð>Vm
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5) The first step of research is __________.

A) selecting a problem B) searching a problem

C) fixing a problem D) identifying a problem

g§emoYZmMr n{hbr nm¶ar ................. hmo¶.

A) g‘ñ¶oMr {ZdS> ~) g‘ñ¶oMm emoY

H$) g‘ñ¶oMr {ZpíMVr S>) g‘ñ¶m AmoiIUo

6) Formulation of hypothesis may not be required in __________.

A) survey method B) historical studies

C) experimental studies D) narrative studies

n[aH$ënZoMr ‘m§SUr ................. ¶m àH$maÀ¶m g§emoYZm‘Ü¶o Amdí¶H$ Zgbo.

A) gd}jU nÕVr ~) Eo{Vhm{gH$ nÕV

H$) àm¶mo{JH$ S>) H$WZmË‘H$

7) The ‘Sociogram’ technique in research is used to study _______ of the
selected sample.

A) vocational interest B) professional competence

C) human relations D) achievement

g§emoYZm‘Ü¶o g‘mO{‘Vr V§ÌmÀ¶m {ZdS>boë¶m Z‘yÝ¶mMm ................ Aä¶mg H$aÊ¶mgmR>r Ho$bm OmVmo.

A) ì¶mdgm{¶H$ A{^ê$Mr ~) ì¶mdgm{¶H$ j‘Vm

H$) ‘mZdr g§~§Y S>) àm{dÊ¶m
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8) The meaning of the research as a process is not relevant to describe from
among the following phrase is __________.

A) systematic activity

B) objective observation

C) trial and error

D) problem solving

g§emoYZ hr EH$ à{H«$¶m Amho ¶mMm AW© Imbrbn¡H$s H$moUVr Jmoï> dU©Z H$aÊ¶mer g§~§{YV Zmhr?

A) nÕVera H¥$Vr

~) dñVw{Zð> {ZarjU

H$) à¶ËZ d à‘mX

S>) g‘ñ¶m {ZamH$aU

9) No research is possible without _________.

A) applying scientific method B) using statistical techniques

C) formulating a hypothesis D) using a research tool

g§emoYZ ho ............. {edm¶ e³¶ Zmhr.

A) emór¶ nÕVrMm dmna ~) g§»¶memór¶ V§Ìm§Mm dmna

H$) n[aH$ënZm§Mr ‘m§S>Ur S>) g§emoYZ gmYZm§Mm dmna
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10) The research proposals sent to research institutions for financial assistance
must have ________.

A) the whole plan and procedure

B) pilot study

C) budget requirement and time schedule

D) review of the related literature

g§emoYZ g§ñWobm Am{W©H$ ‘XV ‘mJÊ¶mgmR>r g§emoYZ AmamIS>m nmR>{dVmZm ................ Mr Amdí¶H$Vm
AgVo.

A) nyU© {Z¶moOZ d nÕV

~) nWXem} Aä¶mg

H$) Am{W©H$ ‘mJUr d doioMo {Z¶moOZ

S>) g§~§{YV gm{hË¶mMm AmT>mdm

11) Sampling results into __________.

A) great accuracy

B) reduced cost of every item

C) high precision

D) control of extraneous variables

Z‘yZm {ZdS>r‘yio ................ hmoVo.

A) AMwH$Vm dmT>Vo

~) àË¶oH$ Jmoï>rMr qH$‘V H$‘r hmoVo

H$) OmñV {ZpíMVVm

S>) ~mø Mbm§da {Z¶§ÌU
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12) If a researcher conducts a research on finding out of which administrative
styles contributes more to institutional effectiveness this will be case of
________ research.

A) basic B) action

C) applied D) empirical

g§emoYH$mZo AemàH$mao g§emoYZ Ho$bo Agob H$s Á¶m‘Ü¶o àemgH$s¶ e¡btMm g§ñWoÀ¶m n[aUm‘H$maH$Vo
‘Ü¶o OmñV ¶moJXmZ AgVo. gXaMo g§emoYZ ................ àH$maMo Amho.

A) ‘yb^yV ~) H¥$Vr

H$) A¶mo{OV S>) AZŵ dm{Y{ð>V

13) From among the following ________ is not categorised as a probability
sampling method.

A) Simple random sampling B) Quota sampling

C) Stratified sampling D) Systematic sampling

Imbrbn¡H$s ................ ho g§̂ mì¶ Z‘yZm {ZdS> nÕVr‘Ü¶o ¶oV Zmhr.

A) gwJ‘ ¶mÑpÀN>H$ nÕV ~) H$moQ>m Z‘yZm {ZdS>

H$) ñVar¶ Z‘yZm {ZdS> S>) nÕVera Z‘yZm {ZdS>

14) If 30 students of VIII A standard have a mean of 40 and 50 students of VIII B
have a mean 45 in a given test, then combined mean will be _______.

A) 43.13 B) 45

C) 46 D) 50

Oa {Xboë¶m MmMUr ‘Ü¶o 8 dr A À¶m 30 {dÚmWmªMo ‘Ü¶‘mZ 40 Agob d 8 dr ~ À¶m 50 {dÚmWmªMo
‘Ü¶‘mZ 45 Agob Va g§¶yº$ ‘Ü¶‘mZ ................ Agob.

A) 43.13 ~) 45

H$) 46 S>) 50
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15) The formula to calculate mode is _________.

A) 3 median – 2 mean B) 2 median – 3 mean

C) 2 median – 2 mean D) 3 median – 3 mean

~hþbH$ H$mT>Ê¶mMo gyÌ ................ hmo¶.

A) 3 ‘Ü¶m§H$ – 2 ‘Ü¶‘mZ ~) 2 ‘Ü¶m§H$ – 3 ‘Ü¶‘mZ

H$) 2 ‘Ü¶m§H$ – 2 ‘Ü¶‘mZ S>) 3 ‘Ü¶m§H$ – 3 ‘Ü¶‘mZ

16) If average deviation score is 640 amd N is 10 then, standard deviation is
________.

A) 6.4 B) 3.2

C) 8 D) 4

Oa gamgar {dMbZ JwUm§H$ 640 Amho d EHy$U g§»¶m åhUOo M N 10 Agob Va à‘mU {dMbZ
................ AgVo.

A) 6.4 ~) 3.2

H$) 8 S>) 4

17) As sample size increases, the ‘t’ distribution becomes increasingly similar to
________ distribution.

A) Chi-square B) Z

C) F D) M

OgOgm Z‘yZm AmH$ma dmT>ob VgVgo ‘t’ {dVaU .............. {dVaUmer gmå¶ Xe©{dVo.

A) H$m¶ ñ³doAa ~) Z

H$) F S>) M
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18) Median is also called as __________ percentile.

A) 25th B) 75th

C) 100th D) 50th

‘Ü¶m§H$mbm ..................... eVV‘H$ Agohr åhQ>bo OmVo.

A) 25 do ~) 75 do

H$) 100 do S>) 50 do

19) The square root of the variance for a distribution is called ___________.

A) standard deviation B) range

C) average distribution D) square deviation

{Xboë¶m àmßVm§H$m§À¶m gamgarMo dJ©‘yi H$mT>Ê¶mÀ¶m {dMbZmbm .................... åhUVmV.

A) à‘mU {dMbZ ~) {dñVma

H$) gamgar {dMbZ S>) dJ©‘yi {dMbZ

20) Non-parametric test is _______ of the following.

A) Sign test B) T test

C) ANOVA D) Linear correlation

Imbrn¡H$s An[a{‘Vr¶ MmMUr ................ Zmhr.

A) gmB©Z MmMUr ~) T MmMUr

H$) A°Zmoìhm S>) brZr¶a ghg§~§Y
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21) While calculating chi-square if, contingency table consist of 4 columns and
4 rows then, df will be _____________.

A) 9 B) 8

C) 16 D) 4

H$m¶ ñ³doAa H$mT>VmZm Oa H§$Q>tOÝgr gmaUr‘Ü¶o 4 ñV§̂  d 4 Amoir Agë¶mg df ...............
Agob.

A) 9 ~) 8

H$) 16 S>) 4

22) When researcher concludes that there is statistically significant difference when
in reality does not exist then ________ error occurs.

A) Type II B) Type III

C) Type I D) Type I and II

Ooìhm g§emoYH$ g§»¶memór¶ ÑîQ>çm ’$aH$ gmW© Amho Agm {ZîH$f© H$mT>Vmo na§Vy dmñVdmV Ogm ’$aH$
AmT>iyZ ¶oV Zmhr Aem àH$maÀ¶m ÌwQ>rbm ..................... åhUVmV.

A) Q>mB©n - II ~) Q>mB©n - III

H$) Q>mB©n - I S>) Q>mB©n I d II

23) The measure of central tendency that the value occurs most often in a given
series is ________.

A) average mean B) mean

C) median D) mode

{Xboë¶m loUrVrb gdm©V OmñV doim Ambobm àmám§H$ åhUOo .............. H|${Ð¶ àd¥ÎmrMo n[a‘mU hmo¶.

A) gamgar ‘Ü¶‘mZ ~) ‘Ü¶‘mZ

H$) ‘Ü¶m§H$ S>) ~hþbH$



M/P ENT - 29

-10-

24) Critical values are the values those lie exactly on the boundary of the region of
_________ in NPC.

A) rejection B) acceptance

C) exemption D) assumption

NPC ‘Yrb H«$m§{VH$ "{H«$Q>rH$b' ‘yë¶o hr Ë¶mÀ¶m ............... joÌ’$imÀ¶m gr‘maofoÀ¶m Odinmg
AgVmV.

A) Ë¶m½¶ ~) pñdH$ma

H$) gdbV S>) J¥hrVH$

25) ANOVA is also called as one-way analysis of variance because there is
___________.

A) only one independent variable

B) only one dependent variable

C) both dependent and independent variables

D) more than one independent variable

ANOVA ho EH$‘mJm} àgaU {díbofU Amho H$maU___________.

A) ¶m‘Ü¶o ’$º$ EH$ ñdml¶r Mb AgVo

~) ¶m‘Ü¶o ’$º$ EH$ Am{lV Mb AgVo

H$) ¶m‘Ü¶o ñdml¶r d Am{lV Mbo XmoÝhrhr AgVmV

S>) EH$mnojm OmñV ñdml¶r Mbo AgVmV

26) According to Adams education is _________ aspect of philosophy.

A) Theoretical B) Practical

C) Idealistic D) Dynamic

A°S>åg À¶m ‘Vo {ejU hm VËdkmZmMm ................... ^mJ Amho.

A) g¡Õm§{VH$ ~) àmË¶{jH$

H$) AmXem©Ë‘H$ S>) J{Verb
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27) Education is regarded as reconstruction of experiences, this ideology is related
to _________.

A) Idealism B) Realism

C) Pragmatism D) Naturalism

{ejU ho AZŵ dm§À¶m nwZ~mªYUrer g§~§{YV Amho, hr H$ënZm ................... dmXmer g§~§{YV Amho.

A) AmXe©dmX ~) dmñVddmX

H$) H$m¶©dmX S>) {ZgJ©dmX

28) The educational philosophy of ________ included science education in the
curriculum.

A) Naturalism B) Pragmatism

C) Idealism D) Existentialism

Aä¶mgH«$‘m‘Ü¶o {dkmZ {ejUmMm g‘mdoe ................... ¶m e¡j{UH$ VËdkmZmZo Ho$bobm Amho.

A) {ZgJ©dmX ~) H$m¶©dmX

H$) AmXe©dmX S>) AmpñVËddmX

29) The aim of education in democracy is _________.

A) personality development B) religious development

C) development of national integrity D) economic development

bmoH$emhr‘Ü¶o {ejUmMo Ü¶o¶ ................... Amho.

A) ì¶{º$‘Ëd {dH$mg ~) Ym{‘©H$ {dH$mg

H$) amï´>r¶EH$mË‘VoMm {dH$mg S>) Am{W©H$ {dH$mg



M/P ENT - 29

-12-

30) Education is a systematic socialization of young generation. This definition
stated by _________.

A) Bogardus B) Bandis

C) Smith D) Durkheim

{ejU åhUOo ¶wdm {nT>rMo nÕVera gm‘mOrH$aU hmo¶, hr ì¶m»¶m ................... ¶m§Zr {Xbr.

A) ~moJmS>©g ~) ~°ÝS>rg

H$) pñ‘W S>) S>H©${h‘

31) Maladjusted children have no symptom of ___________.

A) Hyperactivity B) Sexual crime

C) Extreme timidity D) Aggression and bullying

Ag‘m¶mo{OV ‘wbm§Mr ................... hr bjUo ZmhrV.

A) A{V{H«$¶m{ebVm ~) b¢{JH$ JwÝhm

H$) A{V{^ÌonUm S>) AmH«$‘H$ d XmXm{Jar

32) Peer groups during adolescence are very significant especially in ______
culture.

A) Indian B) Eastern

C) Western D) All the above

Hw$‘mad¶rZ g‘d¶ñH$ JQ> ho Img H$ê$Z ................... g§ñH¥${V ‘Ü¶o A{Ve¶ bjUr¶ AgVmV.

A) ^maVr¶ ~) nm¡dm©Ë¶©

H$) nmíMmË¶ S>) d[ab n¡H$s gd©



M/P ENT - 29

-13-

33) The feeling of want of something is called as ___________.

A) need B) interest

C) aptitude D) greed

H$mhrVar hdr AgÊ¶mMr ^mdZm hr ................... åhUyZ AmoiIbr OmVo.

A) JaO ~) AmdS>

H$) d¥Îmr S>) bmo^

34) The level of motivation is ________.

A) high when the task is of routine nature

B) low when the task is interesting

C) high when the task is difficult

D) low when the task is difficult

àoaUoMm ñVa hm ...................

A) Ooìhm EImXoo H$m¶© {ZË¶H«$‘mMo AgVo Voìhm Vo Cƒ AgVo

~) Ooìhm EImXo H$m¶© AmdS>rMo AgVo Voìhm Vo H$‘r AgVo

H$) Ooìhm EImXo H$m¶© H$R>rU AgVo Voìhm Vo Cƒ AgVo

S>) Ooìhm EImXo H$m¶© H$R>rU AgVo Voìhm Vo H$‘r AgVo

35) The part of mammalian brain controlling the muscular coordination is ______.

A) cerebellum  B) medulla oblongata

C) corpus callosum D) cerebrum

ñZm¶w§À¶m g‘Ýd¶mda {Z¶§ÌU R>odUmè¶m gñVZ àmÊ¶m§À¶m ‘|XÿMm ̂ mJ hm ................... AgVmo.

A) ‘|XÿMm ‘mJrb ^mJ (cerebellum) ~) ApñW‘‚mm a‚my (medulla oblongata)

H$) H$m°n©g H$mobmoO‘ (corpus callosum) S>) ‘moR>m ‘|Xÿ (cerebrum)
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36) The best use of internet in teaching is _________.

A) to present content through audio-visual medium

B) to update the information

C) to save time and money of a teacher

D) to make it interactive

AÜ¶mnZm‘Ü¶o B§Q>aZoQ> Mm Mm§Jbm Cn¶moJ åhUOo ...................

A) Ñî¶-lmì¶ ‘mÜ¶‘m§À¶m gmhmæ¶mZo Ame¶mMo gmXarH$aU H$aUo

~) ‘m{hVr AÚ¶mdV H$aUo

H$) {ejH$m§Mm doi d n¡gm dmMdUo

S>) Vo Am§Va{H«$¶mË‘H$ H$aUo

37) If teacher state the formula and ask students to solve examples, this is _____
type of teaching methods.

A) inductive B) project

C) discussion D) deductive

Ooìhm {ejH$ EImXo gyÌ ñnï> H$aVmo Am{U {dÚmÏ¶mªZm Ë¶md[ab CXmhaUo gmoS>{dÊ¶mg gm§JVmo Voìhm Vo
................... àH$maMr AÜ¶mnZ nÕVr AgVo.

A) CX²Jm‘r ~) àH$ën

H$) MMm© S>) AdJm‘r

38) For qualitative improvement of teachers, Institutes such as advanced studies
in education were proposed by __________.

A) Kothari commission B) NPE, 1986

C) NPE, 1968 D) University Education Commission

{ejH$m§À¶m JwUmË‘H$ dmT>rgmR>r {ejUmV àJV Aä¶mgmÀ¶m g§ñWm§Mr {e’$mag ................... ¶m§Zr
Ho$br.

A) H$moR>mar Am¶moJ ~) NPE, 1986

H$) NPE, 1968 S>) {dÚmnrR> {ejU Am¶moJ
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39) Diagnosis of the students involved in _______ phase of teaching.

A) pre-active B) interactive

C) post-active D) proximal

{dÚmÏ¶mªÀ¶m {ZXmZmMm AÜ¶mnZmÀ¶m ................... ̂ mJm‘Ü¶o g‘mdoe hmoVmo.

A) nyd© AdñWm ~) Am§Va{H«$¶mË‘H$

H$) CÎma AdñWm S>) g‘rnñW

40) In ancient Indian times _______ system of teacher’s training was present.

A) monitorial B) Gurukul

C) cascade D) filtration

àmMrZ ^maVr¶ H$mimV {ejH$ à{ejUmMr ................... nÕV ApñVËdmV hmoVr.

A) n[ajUmË‘H$ ~) Jwê$Hw$b

H$) H°$gHo$S> S>) JmiU nÕVr

41) All the participants have to be online at the sametime in _________
communication.

A) informal B) asynchronous

C) instructional D) synchronous

gd© gh^m{JZr ................... g§̂ mfUm‘Ü¶o EH$mM doiobm Am°ZbmB©Z Agbo nm{hOo.

A) AZm¡nMm[aH$ ~) Ag‘H$m{bH$

H$) AZwXoeZmË‘H$ S>) g‘H$m{bH$
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42) Which one of the following is not auditory activity?

A) participation in debate B) listening in oral presentation

C) watching a demonstration D) listening to something read a loud

Imbrbn¡H$s H$moUVo lmì¶ H¥$Vr Zmhr.

A) dmX{ddmXmV gh^mJ ~) Vm|S>r gmXarH$aUm‘Ü¶o ldU

H$) {X½Xe©ZmMo {ZarjU S>) àH$Q> dmMZmMo ldU

43) Hardware approach of Educational Technology is based on application of
________ principle.

A) psychological B) engineering

C) sociological D) philosophical

e¡j{UH$ V§ÌkmZmMm hmS>©doAa A°àmoM hm ................... VËdmÀ¶m Cn¶moOZmda AmYm[aV Amho.

A) ‘mZgemór¶ ~) A{^¶m§{ÌH$s

H$) g‘mOemór¶ S>) VËdkmZmË‘H$

44) ADDIE model is an approach used by _________.

A) administrator B) instructional designer

C) students D) headmasters

ADDIE ‘m°S>ob Ñï>rH$moZ hm ................... H$Sy>Z dmnabm OmVmo.

A) àemgH$ ~) AZwXoeZmË‘H$ ¶moOH$

H$) {dÚmWu S>) ‘w»¶mÜ¶mnH$
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45) Technology of education means use of ________.

A) innovative educational strategies B) technological tools

C) computer D) transparencies

{ejUmMo V§ÌkmZ åhUOo ................... Mm dmna hmo¶.

A) Zm{dÊ¶mnyU© e¡j{UH$ H$m¶©{ZVr ~) V§ÌkmZmË‘H$ gmYZo

H$) g§JUH$ S>) nmaX{e©H$m

46) ROM is a memory device used for storage of ______ information.

A) permanent B) temporary

C) secondary D) primary

ROM ho ................... ‘m{hVrÀ¶m gmR>dUwH$sgmR>r dmnabo OmUmao ‘o‘ar {S>dmB©g Amho.

A) H$m¶‘ñdê$nr ~) VmËnwaVr

H$) {ÛVr¶ S>) àmW{‘H$

47) For small groups ______ are useful.

A) conferences B) field trips

C) lectures D) discussions

N>moQ>çm JQ>mgmR>r ................... Cn¶wº$ Amho.

A) n[afXm ~) joÌ^oQ>r

H$) ì¶m»¶mZo S>) MMm©

48) High magnification of the image formed on the screen which is easily seen by
all is an advantage of ________ aids.

A) graphic B) audio

C) projected D) non-projected

gdmªZm ghOnUo nS>Úmda nmhVm ¶oÊ¶mgmaIo {MÌmMo CÀM {dñV¥VrH$aU hm ................... gmYZmMm
’$m¶Xm Amho.

A) J«m{’$H$ ~) lmì¶

H$) àojnUmË‘H$ S>) AàjonUmË‘H$



M/P ENT - 29

-18-

49) Blended classes is an example of ________.

A) E-learning B) Video learning

C) Face-to-Face learning D) M - learning

{‘{lV dJ© (ãb|S>oS> ³bmgog) ho ................... Mo CXmhaU Amho.

A) B©-b{ZªJ ~) pìh{S>Amo b{ZªJ

H$) ’o$g-Qy>-’o$g b{ZªJ S>) E‘ - b{ZªJ

50) A search engine is _________.

A) a programme which protects computer from viruses

B) a programme which organizes computer

C) the engine which powers the internet

D) a programme which can find specific data on the web

gM© B§{OZ ho ................... Amho.

A) g§JUH$mMo ìhm¶ag nmgyZ g§ajU H$aUmam àmoJ«m‘ Amho

~) g§JUH$mMo g§KQ>Z H$aUmam àmoJ«m‘ Amho

H$) B§Q>aZoQ>bm gm‘Ï¶© XoUmao B§{OZ Amho

S>) do~darb {d{eï> S>mQ>m emoYy eH$Umam àmoJ«m‘ Amho


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